¢ 32~¢ 100

I]N HERT AR 2B 5 < L AEcerorex

L £ UERV AN
EEENITHERY DNB 1
ol ledni ol DNB.M ==

e DND =SSN

SR R R DND..M ==
DNN..N..A O KA Z2BRELFEISO 6431548 o

8 /=30
BoAEoRE DNNLN.B  =Jflom @ DN 512 0 MR 51 2 P ORI =
© 2 R TE R A AN 0 B ST A
s e DNN..M..A o
ST TEMMITEE DNN.M.B e e kRSB AR - RS R E
EZIRB R BE -
FEZER
FHE A (mm) 532 040 | 50 | 463 | 48 | o100
EHEFFE (mm) 25,50,75,100,125,150,175,200,250,300,350,400,450,500
TEMEE (mm) 1712 ZE 2500mm {5 K B 1
TEB B8 BRI & B 22 R (18 SR )
RLEME $HEE
A EH#E (MPa) 0.1~1.03
AR EHRE (C) -10~+60
NG
DNN 50 N 125 B FA — Y —LNO1A X 2
l l l l l l l l l
A T RRAE 1772 EE [inas S iERARA %‘g%%g
l l [ l l
32— 32mm| | M pETREIRRE 25—25mm » 1:148
40— ¢ 40mm N:EERG R 50—50mm FA . 2:28
50— ¢ 50mm 75—75mm EE . /4
63— ¢63mm 100—100mm| —————— %
80— 80! 125—125mm| = | WHREEER :qﬂ EI FB :
100—‘2100?‘: 150—1502: T — b;:qm@ﬁ
175175 Jpo
) [tc| |z
250—250mm .
ggg:gggzg :@ CA| 1 SZFENPNGPNPAITR (38 » 24VDC) -
400-—400mm 2IEREHELREETS -
4504501 3EREIRA11 -
50075002: @ cB

1-6.1



I]N FrayE e AN L Tt v AEcerorex

¢ 32~¢ 100
AT T =X
DNSK :]
FrRES 2R
32 DNSK32 - & No.12,13,14,15
40 DNSK40 - fffi& No.12,13,14,15,16
50 DNSK50 - i & No.12,13,14,15,16 DA
63 DNSK®63 - fli& No.12,13,14,15,16
80 DNSK80 - fffi & No.12,13,14,15,16
100 DNSK100 - /il & No.12,13,14,15,16 DP
@ 1€ ¢32,¢40 DS
12 (1) (0 14) (15 (19) 19(9) (8
DQ
- O —— | DB
e 1l Erli i WJ
\ y .r:? JE‘ \—1 . DN
um—
| BN
1
e ST
ErR ENT
No. EH 4B & |No. EH 4B & |No. EH 48 W
1 [ wi % 1 [ 7] wsEenE 1 [13] Exua® 2 | | DU
2 | ®BE 1 8 | % fif &t 2 |14 | #%flE R 2
3 | AR 2 9 | ARl pE 2 |15 fithHOM IR 2 DJ
4 | IEER 1 10| #2 K il & 1 |16 | iHFEOME 1
5 | FLA 1 11| BRE A 8 |17 | PiEEE 2 TA
6 | iR 1 |12 il E 1 |18 Bi@# 2
- GP
@) 19 (1419 (9) (8) GS
‘ GM
TR |
B\ I e L Tﬁﬂ/ / i Sl
‘ '  —— = B
A J u RT
] CT
——— I
Hl& CH
No. EH 48 B |No EH 48 B |No. EH 48 W
1| diE 1 7 | I % (8 E R0 1 |13 IHEUER 2
2 | %h#E 1 8 | % flij &t 2 |14 | & fEH %R 2
3 | AN 2 9 | %l PR 2 |15 #itk HOME 2
4 | EHER 1 10 | 4z 20 il 2K 1 |16 | %3 OA IR 1
5 | LA 1|11 R 8 |17 | BiEEER 2
6 | Wi 1 |12 dlEf 1 |18 BiE# K 2

1-6.2



I]N“f.‘é‘.é.\,* SRAND

PR ETHE /72X

DNDSK[___!

H A

fil

Acerorex

[ARES 1BEE
32 DNDSK32 - & No.10,11,12,13
40 DNDSK40 - & No.10,11,12,13,14
50 DNDSKS50 - & & No.10,11,12,13,14
63 DNDSK®63 - & No.10,11,12,13,14
80 DNDSK80 - & & No.10,11,12,13,14
100 DNDSK100 - & & No.10,11,12,13,14

¢ 32~¢ 100

@ (L€ 432,440

R

No. E A & [No E AN & |No. E N U658
1 i & 2 |7 & @ 2 [13| migEOMIM 2
2 I 28 K #Y 2 |8 17 2 il 7K 2 14| EHEOMIME 1
3 iE 78 8 119 2 B R h 8 |15| PBHiEEE WK 2
4 LA # 1 |10 | il & 2 |16| Pim#RA 2
5 fif 2R 1 |1 ih U 2

6 #% 1 $+ 2 |12| fRfliE 5523 2

@ & ¢50,463,480,¢100

\h T:ﬂ/
i 2 J =TTl oA i
BEE—

Bk

No. E 4R i [No E 4R it | No. EEA L6
1 e 2 |7 % 18 P2 2 [13] Hifk#FHOMIMR 2
2 CEEN 2 |8 iz X il & 2 |14| EEORM 1
3 2 2 |9 BB R b 8 |15| PBHEE#H K 2
4 BNy 1 |10 dihE 2 |16 | [FiE#K 2
5 g 18 11| EFEUHA 2

6 A% 18 $ 2 |12] ®EiEH EZ 2

1-6.3




N MR AR 2B & SR Acrorex

¢ 32~¢ 100

SHERS

U
ooNs o L
2-EE
s 4T N, M BEst DA
©) @F =) r
\\// - — @ @ ° D
@@ 2
KU Fl P P DB
D DF BF G H+{718 G
LE WF Z1+582 DN
N - J E
ST
NT
Fidl]
. DND = nDND:]SD
DU
DJ
E
A © o | 1GP
T o) ST
| ey, @ &l Il |GS
GM
WF Z1+1718
AM ZM+2x 1382 AM GT
7z+2 %1712
E
E
@
YRR
& |AM|BE|(BF| D [DF| E| EE | F| G| H |J KK KUMIMM(N(P|Q| S| T |WF|21|(ZB|ZM|ZzZ
$32 |22 | 30 | 16 [32.5| 10 | 47| G 1/8 7126|42| 4 |M10x1.25( 10 9|12 | 6|13|45| 6| M6 | 26| 94|120(146| 190
»40 | 24 | 35|20 (38 | 10| 53| G1/4| 9|30 |45 | 4 [M12x1.25| 14 916 | 6 |15|5 6 | M6 | 30 [105|135|165|213
$»50 | 32|40 | 25 (46.5| 12| 65/ G1/4| 11|30 |46 | 4 |[M16Xx1.5 [ 17| 12| 20| 6 |15|6 8 | M8 | 37 [106|143 (180244
$63 | 32|45 |25 (56.5| 12| 75/ G3/8| 4|32 |57 |4 |[M16x1.5 [ 17| 12|20 | 6 |16(8 8 | M8 | 37 [121| 158|195 | 259
»80 |40 | 45 | 33 |72 13| 95| G3/8| 15|38 | 52| 6 |[M20x1.5 |22 |16 | 25| 6 |19|9 10 {M10| 46 |128|174 (220|300
#»100] 40 | 55 | 35 (89 | 16 [115| G 1/2| 15[ 40 | 58 | 6 [M20x1.5 [ 22| 16 | 25| 6 [20|7 10 [M10{ 51 [138] 189|240 | 320

1-6.4



N e AVE LW 1

SHE RS

=

5=

%

il

Acerorex

¢ 32~¢ 100

1-6.5

@ DNN #
A:25mm ML DNN[ISD
B:50mm MS
H I @A % w )
) @ @y _“ 2 %J
MEJ OMA
|DF|_ BF G \ \_ G BF 52 AN
AM WF H+{J18
7Z+2 %1352
SHE RS R <
p N ML [
HIE [ AM — 5| BF [DF | G x5 | MA|MB|ME [T 5T a5 W IaTs
@32 22 47 72 16 10 26 73 98 | 27 10 29 47 72 35 62 26 215 | 240
#40 | 24 [ 48 [ 73 [ 20 | 10 | 30 | 78| 103 [ 32 10 | 35 | 47 | 72 | 37 | 62 | 30 | 237 | 262
#50 | 32 | 52 | 77 | 25 | 12 | 30 | 92 | 117 | 41 12 | 44 | 56 | 81 | 41 | 66 | 37 | 267 | 292
963 | 32 | 52 | 77 | 25 | 12 | 32 | 92 | 117 | 41 12 | 44 | 56 | 81 | 41 | 66 | 37 | 282 | 307
$80 | 40 | 58 | 83 | 33 | 13 | 38 | 107 | 132 | 508 | 15 | 55 | 63 | 88 | 43 | 68 | 46 | 321 | 346
$100 | 40 | 58 | 83 | 35 | 16 | 40 | 107 | 132 | 508 | 15 | 55 | 63 | 88 | 43 | 68 | 51 | 336 | 361
T e
LA R
@ FA B - Hij ik HifE €
03
DNLIFA
® p — SRR
| iI%€| E |FB|MF| R | TF|UF | W | ZF
@ @ 32| 79| 7] 10 | 64| 32 | 50| 16 | 108
@Q ol n=H=mo{ @ @ #40 | 90| 9| 10| 72| 36 | 55| 20 | 120
&J uzgzlgL 50 | 110| 9| 12 | 90| 45 | 65| 25 | 123
@ @ 63 [120| 9 | 12 [100] 50 | 75| 25 | 138
80 [ 153 | 12 | 16 [ 126 | 63 | 95| 30 | 150
O o = $100[ 178 [ 14 | 16 | 150 | 75 | 115 35 | 160
‘ TF ‘ W _|mH
UF ZF+i718
@ FB 2! - {23k [E E
4-¢FB
DNLIFB
& T YHR T 2]
@——@ flf<| E | FB|MF| R | TF | UF | WF | ZF
/\ 32| 79| 7] 10 | 64| 32 | 50| 26 | 130
(3 elu @ @ $40 | 90| o | 10| 72| 36 | 55] 30 | 145
Kj 50 [ 110] 9 [ 12 [ 90| 45 | 65| 37 | 155
@] [@ 563 | 120| 9 | 12 | 100 | 50 | 75| 37 | 170
80 | 153 | 12 | 16 | 126 | 63 | 95| 46 | 190
= & $100[ 178 | 14 | 16 [ 150 | 75 | 115 | 51 | 205
‘ TF ‘ WF IMF
UF ZF+{312



hlﬁ%é%é%ﬁﬁﬁl@ﬂﬂ#

REGRCH T RT

@ TC A - Hifilfid)

Acerorex

¢ 32~¢ 100

nDN:]TC

)
F ERSTR
@) si|ep || TE|TL|™™M|Z2A | ZB | Zc | | DA
= 432 | 22 | 12 | 58| 12 | 50| 63 | 83 | 73
= #40 | 28 | 16 | 70| 16 | 63| 74 |91 | 825| |DP
@ $50 | 32 | 16 | 85| 16 | 75| 83 | 97 | 90
463 | 35 | 20 | 100 | 20 | 90 | 86.5/108.5] 97.5
ZAMin | L = 580 | 40 | 20 [120] 20 [ 110 [104 [116 [110 | | DS
ZC+TI8/2 B 100 45 | 25 | 145 | 25 | 132 |113.5[126.5[120
ZB+1752 Max | TE DQ
0 g mm — DB
@ CA &l - (%23 B H[&]E
DN
$CD DN[CA

o R - Lt

UZHZIE{—I/ ‘ ‘ —U—ﬂ fE|CD| D E |[EW| L T | W|ZT BN
532 | 10 |325] 47| 26 | 22 | 10 | 10.5] 142
UZHZUE{_L ﬂ——ﬂ $40 | 12 [38 | 53] 28 | 25 | 10 [13 | 160 ST
$50 | 12 |465] 65| 32 | 27 | 11 |13 | 170
#1« EW #63 | 16 |56.5| 75| 40 | 32 | 11 [17 | 190| |NT
~ L. W . LD | 80 | 16 [72 | 95[ 50 [ 36 | 15 [17 [ 210
| ZT+712 LIE 5100 20 [89 | 115] 60 | 41 | 15 |21 | 230 DU
DJ
® CB U - % EH I
A
2CP nDN:]cs
‘ ,

““ T SRR GP
n=H=waW flf|cD| D | E |[EW|EY| L | T |W|zZT
% #32 | 10 [325] 47 | 26 | 45] 22 | 10 [10.5]142] | GS

40 | 12 |38 | 53 | 28 | 52| 25 | 10 [11 | 160
50 | 12 |46.5] 65| 32 | 60| 27 | 11 [12 | 170 GM
«F« EW 63 | 16 [56.5] 75| 40 | 70| 32 [ 11 [15 | 190
o L. v b | 580 | 16 | 72 | 95| 50 | 90] 36 | 15 |17 | 210
‘ ZT+718 ETE | $100] 20 [89 |15 | 60 | 110] 41 | 15 |21 |230| | GT
AT
® LB 7 - [ o
| ZT+H3E | nDNC] LB

o - IS AN CH
Fﬁﬁm \ Ly @f] N[@ £ | AB | AH| AT |AU| AV | SA | TR|UH| zT

32| 7|32 5 | 24| 8|142] 32| 47] 144

4 ABI ,—kj— $40 | 9] 36| 5 | 28| 10 |161] 36 | 53] 163

E B ‘ Ed @ @ 50 | 9|45] 5 | 32 | 10 | 170] 45 | 65] 175
% —r ' = o 63 | 9|50 5 | 32| 10 |185] 50 | 75| 190
AV AU AU_| | AV ‘ TR | ‘ ¢80 | 12 (63| 6 | 41 [ 13 [210] 63 | 95] 215

‘ SA+TiZ | | uH | | [p100[ 1271 [ 6 | 41| 15 [220] 75 | 115] 230

1-6.6



N $in & < seuk LA

REGRCH T RT

@ CG B - BREHEEE

Acerorex

¢ 32~¢ 100

nDN:]CG

1-6.7

"/,
‘ o' SRS R
UL 1 @) | |ae]co|p[Efew[L [T ]w]|z]zr
N & $32 | 10 [325] 47| 14 [ 22 | 10 | 17 [13° [142
M N H $40 | 12 [38 | 53] 16 [ 25 | 10 | 20 [ 13°[ 160
:‘@ $50 | 12 [465] 65| 16 | 27 | 11 | 22 [ 13°[ 170
T & $63 | 16 [565] 75| 21 | 32 | 11 | 26 | 15° [ 190
T lw ‘ Y ‘ $80 | 16 [72 | 95| 21 [ 36 | 15 | 28 [ 15°[210
7T+ —E $100| 20 [89 [115] 25 [ 41 [ 15 | 32 [ 15° [230
] DN[JCD
®cDx IR % D
| A |AB|AU|CD| E |[EW| T | G |GX
- oE 32 [26 [ 7[21[10] 47[10] 8] 32] 558
| ZT+3iE - AU A 540 | 28 | 7 |24 [ 12 | 53| 12 | 10 | 36 | 625
o ‘ P — 450 |32 93312 65| 12| 12 [ 45 | 775
‘ 63 | 40| 9|37 |16 ] 75| 15 | 12 | 50 | 87.5
80 | 50 | 11 | 47 | 16 | 95[ 15 | 14 | 63 1105
N $100| 60 | 11 | 55 | 20 [115] 22 | 15 | 71 [1285
@ FIf| H |TH|TR|UH | ZT
| [¢32 [ 31 [ 18 | 38 | 51 [ 142
540 | 35 | 22 | 41 | 54 [ 160
‘ 550 | 45 | 30 | 50 | 65 | 170
563 | 50 | 35 | 52 | 67 | 190
580 | 60 | 40 | 66 | 86 | 210
100] 70 | 50 | 76 | 96 | 230
@ CB - s
op . nDND PIN
S YUBR
= € |CcD| LL P
N $32 | 10 | 53| STW-10
o 340 | 12 | 62| sTw-12
‘ L 550 | 12 | 69| STW-12
-~ $63 | 16 | 80| STW-16
$80 | 16 [ 100 | STW-16
$100] 20 [122] STW-20




N $n G <Rk LA

ol S RT

® YU (i)
]

U

]

© —
LS
@ flR#EH
S
B E
Dt f ﬁ
- & J
=g
(O] b
* 5
) (=
|KK |
@ FHHIH
ﬁ\ B EIRIE
LEA -
LSS
E F ‘ BT KK
A [¢]
@ il g
KK
7 NS
|

$32~$100
.
SHERSTR
R i | b | F| G KK T|ulv
Y-M10X1.25 | 432 10 40 52 | M10X1.25 20 10 20
Y-M12x1.25 $40 12 48 62 | M12x1.25 24 12 24
Y-M16x15 | 550,463 | 16 | 64 | 83 | M16x15 | 32 | 16 | 32
Y-M20x1.5 | 480,5100] 20 80 105 | M20X1.5 40 20 40 DA
n ETE B DP
Y-M10x1.25| YM10125
Y-M12x1.25| YM12125
Y-M16x1.5 | YM16150 DS
Y-M20x1.5 | YM20150 |:
.
SHE RS DB
AT, i |B|lc|D|E|[F|G|J]| Kk [sw
G-M10x1.25| ¢ 32 10.5( 14 | 10 | 28 | 43 57| 20 |M10x1.25| 17 DN
G-M12x1.25 ¢ 40 12 16 | 12 | 30 | 50 65| 24 (M12x1.25| 19
GM16x15 550,063 [15 | 21| 16 | 38 [ 64 | 83] 33 [M6x15 [ 22| | BN
G-M20x1.5 [80,4100]18 | 25 | 20 | 46 | 77 | 100] 40 [M20x 1.5 | 30
n By | mEs ST
G-M10x1.25| GM10125
G-M12x1.25| GM12125 NT
G-M16x15 | GM16150
G-M20x1.5 GM20150 |:
DU
DJ
SHERST#R TA
IR i | A| B|C|D|E|F KK u
K-M10x1.25] 532 54] 13 | 24 | 255] 145] 6 |M10x1.25] 1 GP
K-M12X1.25| 4 40 70| 17 29 | 31 19 7 |M12x1.25(1.15
K-M16 X1.5 | 450,63 88| 21 27 | 38 29 8 [M16x1.5 | 1.65 GS
K-M20x1.5 |80, 100| 105| 25 32 | 50 27.5| 16 |M20x1.5 |2.15
n BR | EES GM
K-M10x1.25] KM10125
K-M12x1.25| KM12125
K-M16 X 1.5 KM16150 GT
K-M20 % 1.5 KM20150
E
.
SHERST R E
fidiay KES H KK swW
N-M10Xx1.25| 432 6 M10x%x1.25 17 CH
N-M12x1.25| 440 7 M12x1.25 19
N-M16x1.5 | 450,463 8 M16x 1.5 24
N-M20% 1.5 | 80, ¢ 100 8 M20% 1.5 27
n A | B
N-M10x1.25| NM10125
N-M12x1.25| NM12125
N-M16x1.5 NM16150
N-M20 X 1.5 NM20150

1-6.8



477 PR SRR
LA P\ e SRR EROTEK
$32~ 4100
SE st i
AT PR R AE R ~T
@ DN #!
B c c
Mil:l\ =N
aawinnE
! bl
7
[l e
V\E/ Ui
|
SEHEBAR N T 2%
I | AR | A B C D E
532 LNOTA 263 | 27 32 |[Max12L] M4
¢ 40 LNO1A 29 32 32 |[M4x12L| M4
# 50 LNO2A 35.5 36.5 32 |[M4x12L| M4
¢ 63 LNO2A 40 43 32 |M4x12L| M4
%80 LNO3A 495 | 52 32 |Max 12| M4
¢ 100 LNO3A 57.5 62 32 |[M4x12L| M4
% 25 mm EFER
DND DNN
i
T o] [of=
U] {TFE 25 mm u[E{ T2 50 mm
32 0.56 0.056 0.62 0.078 0.78 0.078 0.86 0.078
540 0.85 0.080 0.98 0.120 1.09 0.120 1.22 0.120
¢ 50 1.22 0.117 1.46 0.179 1.82 0.179 2.07 0.179
¢ 63 1.72 0.128 1.96 0.189 2.26 0.189 2.51 0.189
¢80 3.25 0.188 3.69 0.285 4.45 0.285 4.79 0.285
5100 4.28 0.220 4.87 0.317 5.63 0.317 5.97 0.317
HER Bhir kg
FAFB CA cB LB TC cD cG CB-Pin Y
fiARES
LO: Ll 4l | JL | £k g O\ | == | @
%32 0.224 0.225 0.197 0.170 0.104 0.175 0.179 0.032 0.083
540 0.266 0.306 0.221 0.219 0.210 0.223 0.242 0.053 0.147
¢ 50 0.480 0.473 0.420 0.344 0.328 0.383 0.387 0.061 0.335
¢ 63 0.602 0.743 0.600 0.405 0.492 0.538 0.583 0.124 0.335
$80 1424 1.366 1134 0.839 0.740 0.906 1.047 0.156 0.677
$100 | 1.974 2.156 1.795 1.045 1.223 1.370 1.531 0.298 0.677
E-4e B kg
G aOMR0E | TR
fKEY _
@I @ '
532 0.080 0.008 0.065
¢ 40 0.112 0.010 0.065
# 50 0.202 0.017 0.066
$63 0.202 0.017 0.066
$80 0.368 0.020 0.086
$100 | 0.368 0.020 0.086

1-6.9



¢ 32~ ¢ 100

I]N[ an 2 VLI 3 75 < SRURL AEcerorex

Sl i 2 26 07 7 SRR
emEsmen  DNE

eyEyESEER  DNZ

o
>

DP

SEEESH A RER DNEM

DS
eHENERIEED DNZM == DS

l 43 l 3 l l 4
HE: _[E=H_ 00#wABRiED :EE- DEIH]:] o@emAgIsm . |DB

A B B A BRIHEE

@ ® ® ® @

[T [ A U DN
sell= b=t *o*REI" %H];I:B[H% Eﬁﬁﬁg @@ERABRISNE E
FrE&E k ST

FALALE (mm) 32 | ¢40 | 450 [ 463 [ ¢80 [ ¢100

BAETR (mm) TR R E NT

FREER (mm) k300

TELE R B 2 i R SR ) DU

MEME HEEE

i D& (MPa) 0.1~1.03 DJ

{5 i Y E A (°C) -10~+60

o TA
Een o

P

DNE 32 M 50 /100 FA — Y —LNO1AX 2

l l l l l l l l l GS
B, P MAMRE | | AmELTI2 | | BRELTR Bt Pigz:3ec] TIEREE
[ [ [ [ [ [ [ [ |GM
4 32— ¢ 32mm - B R 52 Al 5= 4= N .
)) B0 b domm| [ (TR (GREERG | o |FA “ on or
Z g 50— ¢ 50mm
5 5o o pausrd R & RT
I 100— ¢ 100mm LNO1A: ¢ 32, ¢ 40{EF
‘),) [y (FB|  |nonesoeses E
2 B
DNZ {=FI—Te=Rk |CA| | mmnPNaPNPRIT (B » 24VDC) |:

2 OEME R EERY -
FER—@SE [CB| SR

PR Y
BoaE

1-6.10

@]

H




¢ 32~¢ 100

I]N[I]Nl S WX 28 0 R S L Acerorex

SHERF
‘ DNE 2 n DNE[JISD

tEE L

KK

: 18— [Tharin
1% Pe—o

DF| _BF
AM WF S+A 1712 X S+B 1312
ZZ+A131E+B 1318

SHERSFR
fiKES AM BF DF EE KK S WF X zz
32 22 16 10 G1/8 M10x 1.25 94 26 10 294
¢ 40 24 20 10 G 1/4 M12x1.25 105 30 10 328
¢ 50 32 25 12 G 1/4 M16x 1.5 106 37 12 362
63 32 25 12 G 3/8 M16x 1.5 121 37 12 392
¢80 40 33 13 G3/8 M20x 1.5 128 46 16 444
¢ 100 40 35 16 G172 M20 X 1.5 138 51 16 474

1

. DNZ i n DNZ[JsD
4-EE 1EEERD

BF BF
S+A 1718 X S+B 1318
w ZZ+A1312+B 1312 w
AP RST &R
FrRES BF EE S Vv w X zz
$32 16 G1/8 94 30 4 55 243
¢ 40 20 G 1/4 105 35 5 55 265
¢ 50 25 G 1/4 106 40 5 68 280
$63 25 G 3/8 121 45 5 68 310
80 33 G 3/8 128 45 6 92 348
¢ 100 35 G 1/2 138 55 6 92 368

1-6.11



DNEDNL s s s

AR 2 2 {3 1 SR L

B =UERE.......... DNF .

Sl =rEhrmER DNEM

Acerorex

¢ 32~¢ 100

2.0 RAEDERREAR - H

DA
BB IREL DNL ... DP
SRS IRIREEE  DNLM DS
® ® DQ
3 2 b
== otrismEEE :GH]B:%IQ ® ERBRES DB
B A
) e O
2 3 1 2 1 DN
:%% @ ERAREIHNMEA @:%% OO ERFER  RIIEEEREHD
R — T8 A M TIRANEE BN
FFIEERE EST
FALAEE (mm) 932 | 440 | 450 [ 463 [ ¢80 [ ¢100
FEUETRE (mm) ATRER TR BYE NT
ITR2EE (mm) 1 A500
TAFRER BB TE & B 22 R (M SR ) DU
WL EME fEER
B ) #ElE (MPa) 0.1~1.03 DJ
o AR EE A (°C) -10~+60
N TA
E VNG \_
DNF 32 N 50 /100 FA — Y —LNO1AX 2 |[GP
l l l l l l l l l E
koS A WIERRIE | |SB—RRTIE| |BTRITRE [ SRR RERRHE
[ [ [ [ [ [ [ [ GM
32— ¢ 32mm R |5 A 5= . N Y
n))) so—saonm| N || ||| | (PP |FA P R ot
Z ¢ 50mm
W one 5o teome ~[9=PER| |FB gl E
I 100— ¢ 100mm RT
LNO1A: ¢ 32, ¢ 40fFF
)) :ﬂm TC LNO2A: ¢ 50, ¢ 638
xy > LNO3A: ¢ 80, ¢ 100fFFH
Q) ' o cT
DNL =8Pk |CA 1. B 5EFENPN&PNPRITY (RN » 24VDC) © |:
C

<[PHaPE (CB|  smmR-11 -
. N . ="=H'HH] [LB
e -
BoBOR | E-BTE .
S| K

1-6.12



¢ 32~¢ 100

I]NH]N[ FR IR 2 VL 1 SR AEcrorex

MR <F
@ DNL B(f% /1540) n DNLCISD

4-EE 1EEHE

O

|
%9

DF| BF
AM WF S+i2 X S+yte
2z02X {718 w
SHERTE&R
FARES AM BF DF EE KK S A" w WF X zz
$32 22 16 10 G 1/8 M10x1.25 94 30 4 26 55 291
%40 24 20 10 G 1/4 M12x1.25 105 35 5 30 55 319
#50 32 25 12 G 1/4 M16x 15 106 40 5 37 68 349
$63 32 25 12 G238 M16x15 121 45 5 37 68 379
$80 40 33 13 G 38 M20x 1.5 128 45 6 46 92 434
$100 | 40 35 16 G112 M20x1.5 138 55 6 51 92 459
RS &
@ DNF 2B (T 5iL) n DNFCISD
A=E—BITE
B=_R{IiE+H—RIIE
4-EE @

|
%9

DF| BF
AM WF S+B 1312 X S+A 1712
ZZ+A1312+B 1712 w
AP RT &R

ke AM BF DF EE KK S \' w WF X zz
$32 22 16 10 G 1/8 M10Xx1.25 94 30 4 26 55 291
$40 24 20 10 G 1/4 M12x1.25 105 35 5 30 55 319
$50 32 25 12 G 1/4 M16x1.5 106 40 5 37 68 349
$63 32 25 12 G3/8 M16Xx1.5 121 45 5 37 68 379
» 80 40 33 13 G 3/8 M20x1.5 128 45 6 46 92 434
¢ 100 40 35 16 G 1/2 M20 x 1.5 138 55 6 51 92 459

1-6.13



I]N KA §im 5 < SRk L AEcerorex

¢ 125, ¢ 160

B R

DNB i

75—75mm B:oJZ50mm A A

e [rprr— E{@I FB g Sl
125—125mm| & * LAEREE LN02A"S

150—150mm

eEZER
SEBNRI R DNB.M =1 DA
SEBR TR DND -%— E
DS
TR DND.M === N EDQ
e o DNN..N..A 5 O
el DNN.NCB =t BN
S . DNN..M..A
THTRTENITEER DN M.B =l DN
® K AT ZSFEEL T A1SO 6431414 E
FrEE k
UL PAAE (mm) $125 | 5160 ST
EUETRE (mm) 25,50,75,100,125,150,175,200,250,300,350,400,450,500
FEfE (mm) R 1500mm KRB NT
Tt BB 2 AR 2 S BRI )
WEME ek DU
fif il & ) #3 JBl (MPa) 0.1~1.03
fok PR L WL (°C) -10~+60 DJ
R TA
DII\IN 1%5 l‘\l 1125 IT% FIA — \‘( — LN?ZAX % GP
BR RE || EE || (TR || TEOR Rty masm | |G | |GS
[ [ [ [ [ [ [ [ GM
mm - PR 25—25mm E SRR > .
/"“ ggf:%mm ngﬁuggggg 50—50mm A:%aiﬁgsfn% ij@ FA ;E;fﬂg |:
cT

175—175mm LNO2A: ¢ 125(3F3 RT
200—200mm TC|  |LNo3A: ¢ 160@H

250—250mm o T
350 350mm [P [CA| i TmmvensPRPRst St - 20000 -
400—400mm 2-@§ﬁ@$§%ﬁﬁgﬁﬁﬁc

450—450mm @ CcB 3EEEIR4-11 - CH
500—500mm

1-6.14




I]N KA §im 5 <2 SRk L

SHERST

Acerorex

¢ 125

U
@ DNB BDNB [IsD
x4-T 2-EE
\ N M‘ Ew3
T
o) B)
& A4 Kk KU =]
ﬁ m wl = ; (§ (¢] (? w
%) @ el e
&,J/ \g@ 0= =0
m]s) Fl P P
OE DF BF G H+{3%2 G J
WF Z1+718
AM ZB+{712
Ead]
@ DND Z nDNDC]SD
oo
( ‘ —\
@ -
WF Z1+{312 WF+{312
AM ZM+2 X 1312 AM
2Z+2 X171
SHE R #R
fil{& |AM|BE|BF| D [DF| E| EE | F| G| H | J KK |KUlM|MM{ N|P|Q| T |WF|21|ZB|zZM|2Z
125 | 54 | 60 | 45 [110] 20 [140| G 1/2] 18 [ 45|70 | 8 | M27x2.0] 27 | 15[ 32| 5 [22.5] 8 | M12] 65 [160]225]290] 398

1-6.15



2444 NN
I]N KOS & B 5wk Acrorex
$125
S RSE
@ DNN % DNN[ISD
o]
_— ] ML
| i [— MS ‘
: B ] | S— ZN
ﬁ Q&1
1 | L BRI
S _— OMA
- [ I
DF BF | G | | G | BF 1718 AN
AM WFE_| ‘ \ H+T12
2Z+2 X 1718
SHERSTR
i | Am —ANg— BF [DF | 6 x5 ma| mB | mME [Nt A"'_SB WF =
125 | 54 | 63 | 88 | 45 | 20 | 45 [ 128 [ 153 | 57 | 18 | 64 | 65 | 90 | 47 | 72 | €5 | 407 [ 432
LN
@ FA B - FiiERE S E
4-FB
[© o+ g DN[IFA
N &) LN ES n
2 - | E |FB|MF| R | TF|UF | W | ZF
ﬁg)\l | w m_—i 1250 220 | 16 | 20 [ 180 [ 90 [ 140 45 [ 188
N ©
&) O _:
TF ‘ w MF
UE ZF+{572
@ FB B! - {5l E
4-FB
o 57 DNLCIFB
@ @ SRR n
fs| E |FB|MF| R | TF | UF |WF | ZF
(@E 2 “Ew s 5125|220 | 16 | 20 [ 180 ] 90 | 140 | 65 | 245
&) Of— -1
‘ TF ‘ WF J»,ﬂ:
UF ZF+718

1-6.16

o
>

DP
DS
D

Z||»w||®T| T O
||| Z2|Z2|]|®T| O

_|
LI 2

29/38 2 8/8 52859228888 ¢

GS
G
GT
RT
CT
H

<

@]



I]N K §8 & 2 Rk LS

LERRCIT R T

@ TC AU - Hifiliigs) o

ZC+T1212

ZA B/)\ i |
|
ZB+EBRK1T1E

A\

TL

Acerorex

¢ 125

@ CA U - iR E B E[H

ZT+HIHE

@ CB A - (REHE T

%LL:

ZT+512

@ LB 2 - Jlja[| 2

ZT+{318

o

‘[J‘—ﬂ ‘[J‘—ﬂ

©)
©)
©

) £
L %EUEL
< | | AU

SA+1T12

SHER T #R
& |(BD|TD | TE|TL |TM | ZA | ZB | ZC
} $125| 40 | 25| 157] 25| 160] 135 | 155 | 145
11D
TE
DN[JCA
R D
fE|CD| D E |[EW| L T |W|2ZT
$125| 25 | 110 | 140 | 70 | 50 | 17 | 26 | 275
DN cCB
SHE R~ n
ff<|co| D | E [EW|EY| L | T |wW|zZT
5125] 25 | 110 |140 | 70 [130] 50 | 17 | 26 | 275
DN[JLB
SHERST#R n
FI7< | AB|AH| AT |AU| AV |SA| TR|UH| ZT
$125] 16 | 90 | 7 | 45 | 25 | 250] 90 | 140 270

1-6.1

7



I]N KO E S RALAC: Acroren

¢ 125

RERRCH T RT
@ CG 2 - REHEEE

YU L % s ks

ffE|cD| D |E |[EW| L | T |W|Z|ZT
#125] 25 [110]140] 31 [ 50 | 17 | 40 [ 15°|275] | DP

o

ZT+T2
‘

DS
DQ
DB
@CDAH
DN
OE
ZT+312 _ AU A ‘ IR} % nDN:]CD BN
s T T =
- @ @ ﬂh:AABAUCDEEWTGGXS
»125[ 70 [ 14 [ 70 | 25 [140] 25 [ 20 [ 90 [ 160
8 @‘,@ €| H [TH|TR|UH| ZT N
»125] 90 | 60 | 94 | 124 | 275
TR
UH DJ
A
@ CB AU- ffifH

)

29/38 2 8/8 52859228888 ¢

2p SRt o Bl

= ff€ |CD| LL P

@ o $125| 25 | 139 | STW-25 GM
¥ 8

i T GT

RT
T
H

QO

1-6.18



I]N K §m & B sk LAC

sl S ST

@ YHUEZGH (Ffl5E)
m
i DT
]
@ fREE
.C_
i E
L,
oM}
. z
T =
| KK |
@ FHEjE
> L — 1
_E_LE; le |
@ il i

$125
SMERST#R
i FrRES D F G KK T u v
Y-M27 X 2.0 ¢ 125 30 110 155 M27 X 2.0 54 30 55
n W e
Y-M27 x 2.0 YM27200
SMERST R
i fIff |B|C|D|E|F|G|J| KK [Sw
G-M27 x 2.0 ¢ 125 25|37 | 30 | 70 | 110|145| 50 | M27x2.0 | 41
n ey e
G-M27 x 2.0 GM27200
SHE RT3
#X, |FE|A|B|C|D|E|F| KK [ S| U
K-M27%2.0 | 4125| 153 33 | 41 | 63 | 63 | 22 |M27x2.0] 27 | 1.25
n BR | EES
K-M27 x 2.0 KM27200
SHERST &R
FiCha kS H KK SwW
N-M27 x 2.0 ¢ 125 8 M27 % 2.0 35
n B | mE=
N-M27 X 2.0 NM27200

1-6.19




I]N KA §im 5 < SRk L AEcerorex

¢ 160

SHERS
@ DNB g BDNB:]SD

2x4-T

()1 W2

] -
|

29/38 2 8/8 52859228888 ¢

BB
KK KU 2-EE

- DP
3 DS
D
DB

INY)

A

o

047/

e
/)
)

&4

-

@)
A\~
#BE
MM
- .-
HINPN
i e @
S
#BE ‘

DN

)
OE DF|_ BF H+Ti2
WF 2141782
AM ZB+{712

[l

G

®
Z

w

pzd

U
@ DND nDND:]SD

O
[l

T
s
>

=4
@

Z4O]

GS
GM

WE Z1+1702 WF+T72
AM ZM+2x 1352 AM
2Z+2 X552 RT

T -
\&
INEC2)

O

T

@]

H
AP RT &R

fI€ |AM|BE|BF| D |DF| E EE F|I|G|H|J KK KUlM|MM[ P | Q| T (WF|21|ZB|ZM|ZZ
$160 | 72 | 65 | 55 | 140| 25 |182| G3/4 | 10 | 50 [ 80 | 6 | M36x2.0 | 36 | 27 | 40 [ 30.5| 12 | M16 | 80 | 180 260|340 | 484

1-6.20



<4 NN
I]N R S o B ki L Acrorex
#160
S RSE
& ™ o L
B:50mm ;b F;; ML
-} 5 L MS
5 rﬁ‘—” |
y © © | \ T/
Em‘ FE OMA
-l -
DF|_BF | G | |6 | BF 171 AN
AM WE | ‘ ‘ \ H+TR2
‘ 7ze2x588
SHERSTR
i | Am —ANg— BF [DF | 6 x5 ma| mB | mME [Nt ""_SB WF =
160 | 72 | 63 | 88 | 55 | 25 | 50 | 134159 | 55 55 | 80 | 37 [ 62 | 80 | 466 | 491
LN
@ FA B - FiiERE S E
4-FB
o o = DNLIFA
& o ) | SRR n
- i%| E |FB|MF| R | TF|UF | W | ZF
@} @ u E}%@[ g %} 5160] 280 | 18 | 20 | 230 | 115 | 180 | 60 | 206
CHIRC
() (&) =
‘ TF ‘ | MF
UF ZF+718
@ FB B! - {5l E
4-FB
(&} o+ = SURFE BDN:]FB
E[D ~ }; fI&| E |[FB|MF| R | TF | UF | WF | ZF
@35 x| w E%[{@ - 5160] 280 | 18 | 20 [ 230 ] 115 | 180 | 80 | 280
0ID®
&) O— =
‘ TF ‘ WF MF
UF ZF+T718

1-6.21



I]N K §n & o sk LAC -

Acerorex

¢ 160

72 HE
AR R
@ TC &!- Hﬁﬂﬁ%‘éiiét)
i DN TC
A SHERSTFR n
0[:]:D0 HI&|BD|TD | TE|TL |TM | ZA | ZB | ZC
— ¢ 160| 45 32| 192| 32| 200 | 153 | 187 | 170
: YAORC
HUIDE
ZAR) ‘ | 2
Zo+TIER? | |TD|
ZB+{ K172 TE
@ CA B! - (L= H H[EE
y 3
‘ , DN[JCA
T R %
fIi|co| D | E [EW| L | T |W|2ZT
$160] 30 [ 140 [ 180 [ 90 | 55 | 20 [ 30 | 315
.Fk
w
ZT+342 ‘
@ CB B! - (L Z M HIEHF
CD
, DN cCB
B SRR n
f=|cD| D | E [EW|EY| L | T |W|2ZT
¢ 160| 30 | 140 |180 | 90 |170| 55 | 20 | 30 | 315
EW ‘
L _|[W oD
ZT+372 EY
OE
@ LB B - il s [E] E
ZT+782
i DN LB
g YHBR % 2]
FI{% | AB|AH | AT [AU| AV |SA|TR|UH| ZT
4-AB ¢160| 18 | 115| 10 | 60 | 15 [ 300| 115|180 | 320
T
B AN
AU AV

SA+J12

1-6.22

o
>

DP
DS
D

o

DB

29/38 2 8/8 52859228888 ¢

Z
=

_|
> 2

G
GS
G
GT
RT

vl

<

O

T
CH



hljh[3ﬁ§$5é§ﬁ§§i$I@E#F

Acerorex

#160
Iy
L NS
- SR~
@ Y (i) UNANIES
B FrRES D F | G KK T u v
\Y% Y-M36 % 2.0 ¢ 160 35 144 | 189 M36 X 2.0 72 35 70
n B | EEE
N VA Y-M36x2.0 | YM36200
N\
O]
w
@ [ EITiE MR %
i kS H KK SW
N-M36 x 2.0 ¢ 160 18 M36 % 2.0 55
/ () n B | BEs
/‘\ N-M36x2.0 | NM36200
\SP)
N/
SW H
@ Y & CA/CB Y- {Hih
op . BDN[] PIN
S~ MBS
= | [mm| @ | W b
@ o2 Y JCAICB[ Y [CAICB| Y [ CACB
¥ o $160] 35 | 30 | 86 | 186 | STW-35 | STW-30
‘ LL
HiER
g&&&; 25 mm HASE 25 mm 7 25 mm TN
B DNB DND DNN DNN
o TR | <Ry
[ T2 256 mm DR
5125 6.62 04 7.53 0.56 8.52 0.56 8.93
¢ 160 14.8 0.9 17.04 1.13 17.64 1.13 18.24
=N
R B kg
FAFB CA CcB LB TC Y+PIN 1 HOMRIE | TR
FK A p—
{oF Ll Jil} JL | & =] D © &
¢ 125 4.02 3.78 3.56 2.50 2.75 1.81 1.40 0.05 0.066
¢ 160 717 7.40 7.14 4.60 5.13 3.12 1.90 0.2 0.086

1-6.23



